Use the following information to answer
questions 46-49.

A balloonist collecting data on pollutants at various levels 6}/ W 4 pS %A// / gd’/

above the ground takes off at 8:00 A.M. When the balloon is
in motion, it moves only straight up or straight down and at /

a constant speed within each hour-long interval. The balloon é 5 C CN° v O
is at an altitude that is a multiple of 100 meters at the begin-
ning of each hour. The balloon lands at 2:00 P.M. at the same
spot from which it took off. The altitude of the balloon, in
meters above the ground, is shown in the figure below.

: 500 A | '
I am = 1100 zpft wp
ig;’ fzz ; \ //ﬂﬂﬂM-’) /Z Y0 /ﬂﬂﬂ 5/05}/4/
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46. Which of the following is closest to the total distance, : 7 0 / /, Z é &ﬂ
in meters, that the balloonist travcled from 10:00 A.M. 2
to 1:00 P.M. ? - g‘&_,/
‘A’ F. 400
G. 500 ' _
—= H. 600
J. 680 . )}
K. 700 .
| | ¥ 11+ = = 5 hrs
47. What was the total time, in hours and minutes, that the Z + 6 M) N
balloon was at least 200 meters above the ground? 12—

A. 1hour 30 minutes Jo30 / Z
D B. 1hour 36 minutes 0/) ;L‘S’ Mg e Ca(L)? //4)

C. 3 hours 0 minutes -
D. 3 hours 6 minutes

|
Il
E. 3 hours 48 minutes Ijﬂ ,’0“?[‘ ’fo de{Wmlﬂé [)Q‘hx/@él\f /00 I({ JIZ;
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27. Smiley the Clown charges $10 for scheduling a party j I/ ,0 é : /'/‘,ﬁ r / Ve 7‘2 Z@ A/

and $5 per hour after arriving at the party. Happy the .

Clown charges $10 per hour for a party but does not KPRk S - .

have a charge for scheduling a party. The graph below g/ (/ erf .g D)L re é/) / 7
shows the 2 clowns’ wages, with A as the number of .

hours worked for a party. For what range of hours : Vs )
worked for a party does Happy the Clown make as 5 e Ar/ O

T_lf_ll or more thaz 2mileAy the Clown;?/ 2 sl 28 | - | . :
\\Xﬁs’f““ h NAER 2 4%0/5/ e
) W{‘«M Ak ul
\{ S - Sm//ey #;)p /) 7 %/ &) Wzﬂf £

104
A. h20 - gt
B. h<2 S B ey
C. 0shis2 hours worked
—> D. h22 T ey,
E. There is no range for which Happy the Clown will

make as much or more than Smiley the Clown.



10. For the first several months after the Fiery Red Scoote
arrived in toy stores, the rate of sales increased slowl
As this new scooter caught on, however, the rate ¢
sales increased rapidly. After several more months
many people owned a Fiery Red Scooter, and the rat
of sales decreased. Which of the following graph
could represent the total number of Fiery Red Scooter
sold as a function of time, in months, after the scoote
arrived in toy stores?
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Mousepads Galore is a company that produces computer
mousepads. Cost is the total money spent to produce and
sell the mousepads, and revenue is the total income
generated by the sale of the mousepads. The graph below
depicts projections for the linear cost function, C(x), and
the linear revenue function, R(x).

100

$ (in thousands)

0 f——t——t————t——+———+—>
0472%:4%56% 810712014 " %
number of mousepads

produced/sold
(in thousands)

32. During the month of April, Mousepads Galore broke

33.

34.

even (did not gain or lose any money) when
x mousepads were produced and sold. How many
mousepads did the company produce and sell during
the month of April?

F. 10,000
G. 12,000
H. 14,000
J. 15,000
K. 30,000

The cost function shown in the graph for Mousepads
Galore has 2 components: a fixed cost, plus a constant
production cost per mousepad. Which of the following
1s the fixed cost?

A. § 0
B. § 1,000
C. $ 10,000
D. $ 30,000
E. $100,000

Mousepads Galore sells each mousepad at the same
price, which is an integer number of dollars.
According to the revenue function, what is the price of
each of these mousepads?

e T
G. $7
H. $10
J.
K

—

$12
. Cannot be determined from the given information




Marcia makes and sells handcrafted picture frames in
2 sizes: small and large. It takes her 2 hours to make a
small frame and 3 hours to make a large frame. The shaded
triangular region shown below is the graph of a system of
inequalities representing weekly constraints Marcia has
in making the frames. For making and selling s small
frames and [ large frames, Marcia makes a profit of
30s + 701 dollars. Marcia sells all the frames she makes.

P -
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number of small frames

number of large frames
o N A O oo~

50. The weekly constraint represented by the horizontal
line segment containing (9,2) means that each week
Marcia makes a minimum of:

F. 2 large frames.
G. 9 large frames.
H. 2 small frames.
J. 9 small frames.
K. 11 small frames.

51. For every hour that Marcia spends making frames in
the second week of December each year, she donates
$3 from that week’s profit to a local charity. This year,
Marcia made 4 large frames and 2 small frames in that
week. Which of the following is closest to the percent
of that week’s profit Marcia donated to the charity?

A. 6%
B. 12%
C. 14%
D. 16%
E. 19%

52. What is the maximum profit Marcia can earn from the
picture frames she makes in 1 week?

$410
$460
$540
$560
$690

R
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31. Two hoses are used to fill the pool. Twice as many gal-
lons of water per minute flow through one of the hoses
as through the other. Both hoses had been on for
12 hours and had filled the pool to the 4-foot mark
when the hose with the faster flow stopped working.
The hose with the slower flow then finished filling the
pool to the 5-foot mark. Which of the following graphs
shows the relationship between the time spent filling
the pool and the height of the water in the pool?

A.

height
of water
(in feet)

time (in hours)

=
height
of water
(in feet)

time (in hours)

0
height
of water
(in feet)

: : >
time (in hours)

=
height
of water
(in feet)

time (in hours)

=
height
of water
(in feet)

time (in hours)
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60. In the standard (x,y) coordinate ﬁlane, the graphs of the

3 equationsx—-1=0,y+ 2 =0, and x + y = 4 form the :
boundary of a triangle. What is the area of this é Ve dp//ﬁ /) g 6 Qﬁ//

e - . u ~A

LAYV

triangle, expressed in square coordinate units?
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34. The graph of y = -5x* + 9 passes through (1,24a) in the
standard (x,y) coordinate plane. What is the value of a ?

F. 2
G. 4
H. 7
J. -1

K. -8



55. For some real number A, the graph of the line
y = (A + 1)x + 8 1n the standard (x,y) coordinate plane
passes through (2,6). What 1s the slope of this line?

HEAQF >
|



18. The equation of line / is y = mx + b. Which equation is line m?

A
m Q /

N

&

I

N

>

f. y=-mx
g y=-x+b
h.y=2mx+b

i. yz%mx—b
jo y=-mx+b



S52. In the figure below, line g in the standard (x,y)
coordinate plane has equation —2x + y = 1 and
intersects line r, which is distinct from line g, at a
point on the x-axis. The angles, Za and £b, formed by
these lines and the x-axis are congruent. What is the
slope of line r ?

F. -2
1
G. )
1
H. >
J. 2

K. Cannot be determined from the given information



31. What are the (x,p) coordinates of the unique point on

the graph of x + 4y = 18 such that the y-coordinate of
that point is twice the x-coordinate? .

A. (1,2)
B. (2,4)
C. (3,6)
D. (4,8)
E. (9,18)
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DO YOUR FIGURING HERE.

35. In the (x,y) coordinate plane below, a straight line
passes through the 3 indicated points. What is the
value of k£ ? | 5
y 4 wA L
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44. The points E(6,4) and F(14,12) lie in the standard (x,y)
coordinate plane shown below. Point D lies on EF
between E and F such that the length of EF is 4 times
the length of DE. What are the coordinates of D ?

y
A
F(14,12)
F. (7. 5)
G. ( 8, 6) E(6,4)
H. ( 8. 8)
J. (10. 8)
K. (12.10) ol / »>x



19.
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In the standard (x,y) coordinate plane shown below, _ . ) . 1
what is the distance in the x direction, in units, from * 5 /' S = /Vﬂ(_ P %g7ﬁl/£ﬁ'
e g

= Foroula Buesson Make Sage
A-42) éﬁéﬁ; Wovkh o~ Zéé; U EST I/

: S 5%/ 49¢{(ﬂ¢¥4 GAaT ™ Shze
B 4SSk [ =N l>= i 27 ttfx;ff

A QFEe>
N WW AW
S




o 17. The scales on both axes of the standard (x,y) coordi-
_nate plane below are the same. Of the following, which j / P ‘g_ dﬂ/Z/ @ d /, / W

Q)\O} P is the best estimate for the slope of AB?
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Z-coordinate

Yy

X-coordinat

Y-coordinate



52. As shown in the (x,y,z) coordinate space below, the
cube with vertices A through H has edges that are y fj ,g C@f) /7&&%
) J

1 coordinate unit long. The coordinates of F are /
Plep/f=s

(0,0,0), and H is on the positive y-axis. What are the
coordinates of D ?
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10. For the first several months after the Fiery Red Scooter

ol : , /
arrived in toy stores, the rate of sales increased slowly. / g ¢
As this new scooter caught on, however, the rate of ;
sales increased rapidly. After several more months, ; /ZZA/; /',(/ﬁ

many people owned a Fiery Red Scooter, and the rate

of sales decreased. Which of the following graphs
could represent the total number of Fiery Red Scooters ~ M 72
sold as a function of time, in months, after the scooter /:é / rd %

arrived in toy stores?
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: DO YOUR FIGURING HERE.

| Use the following information to answer

i questions 32-34. Z‘//VQ av Means W/hjjzd'
. Liné&E

Mousepads Galore is a company that produces computer

8 mousepads. Cost is the total money spent Lo produce and
sell the mousepads, and revenue is the total income
generated by the sale of the mousepads. The graph below
depicts projections for the linear cost function, C(x), and
the linear revenue function, R(x).

$ (in thousands)

-
>
X

0 2 4 6 8 1012 14

number of mousepads '
produced/sold e {

(in thousands)

32. During the month of April, Mousepads Galore broke /‘W’?WMM ' e

even (did not gain or lose any money) when

x mousepads were produced and sold. How many ﬁ( -
mousepads did the company produce and sell during W/[%V? W
the month of April?

—>F, 10,000 / ecoeef %044» LK /QAK &L

G. 12,000
H. 14,000
J. 15,000
K. 30,000

33. The cost function shown in the graph for Mousepads

o
Galore has 2 components: a fixed cost, plus a constant B e e % W P 47\/\7 foé/

;:»rol?u%tior:j cost ‘?er mousepad. Which of the following

is the fixed cost? N % N
B8 1000 0?777/“@/ ONE Q/V’ZL, /@é /ﬂ/ %3&4%‘/&4 )
LB o eear Lok st pernT (& B

E. $100,000

34. Mousepads Galore sells each mousepad at the same = ﬁ
price, which is an integer number of dollars. j/ﬂ’ﬂﬂ L2 W '&VYL_
According to the revenue function, what is the price of &
each of these mousepads?

C.37 Jhis Ruédarn <1 « &ﬁ% Mi/?ﬂ%ﬂxj é(m

—2> H. $10

J. 312 5 . = W{
K. Cannot be determined from the given information % /’)ﬁ/ﬁ - m} CW%

; < /08 ppo
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44. The points F(6,4) and F(14,12) lie in the standard (x,y)
coordinate plane shown below. Point D lies on EF
between E and F such that the length of EF is 4 times
the length of DE. What are the coordinates of D ?
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10. Rectangle ABCD has vertices A(4,5), B(0,2), and
C(6,-6). These vertices are graphed below in the
standard (x,y) coordinate plane. What are the
coordinates of vertex D ?

YA
6-- e}
4_..
20
} 2) i } } } { )
2924 6810 x
F. (10,-3) |
G. ( 9-2) 67 y
H. (8 2) g+t
J- ( 79 1) —10"
K. ( 2.-9)



25. The sides of a square are 3 cm long. One vertex of the
square 1is at (3,0) on a square coordinate grid marked in
centimeter units. Which of the following points could
also be a vertex of the square?

A. (6, 0)
B. (4%,1%)
C. (1, 2)
D. (0,-2)

E. (-3, 0)



30. The sides of a square are 3 cm long. One vertex of the
square 1s at (2,0) on a square coordinate grid marked 1n
centimeter units. Which of the following points could
also be a vertex of the square?

F. (-4, 0)
G. (0, 1)
H. ( 1-1)
J. (4, 1)
K. ( 5,0)



16. What is the slope of any line parallel to the line
8x + 9y = 3 in the standard (x,y) coordinate plane?

F. -8
8
G. =9
8
H. 3
Jo 3



17. In the standard (x,y) coordinate plane, a line segment
has its endpoints at (3,6) and (9,4). What are the coor-
dinates of the midpoint of the line segment?

( 3,-1)
(3, 1)
(6, 2)
(6,5)
(12,10)

HEOF >



35. Which of the following is the graph of the equation
2x +y = 4 in the standard (x,y) coordinate plane?

A. y D. y
A A
4\ /

7
— —>» t —t—>
-4 9 \4 x 4/ 9 4 x

44 441

-4 9] ' 4'\)x _4 0/ 4 )x
4 —
/
C. y




S57. When graphed in the standard (x,y) coordinate plane,
the lines x = -3 and y = x — 3 intersect at what point?

A. (0, 0)
( 0,-3)
3, 0)
3—3)

B

C. (-
D. (-3

E. (-3,-6)



12. What is the slope of the line through (-5,2) and (6,7) in
the standard (x,y) coordinate plane?

F. 9

G

H. -5
J

K



37. In the standard (x,y) coordinate plane, the midpoint of
AB is (4,-3) and A is located at (1,-5). If (x,y) are the
coordinates of B, what is the valueof x + y ?

A. 19
B. 8
C. 6
D. -1.5
E. 3



9. In the standard (x,y) coordinate plane, point M with
coordinates (5,4) 1s the midpoint of AB, and B has
coordinates (7,3). What are the coordinates of A ?

A. (17,11)
B. (9 2)
C. (6, 3.)5)
D. (3, )9)
E. (-3,-5)




17. Which of the following is the slope of a line parallel to
2

the line y = 3% 4 1n the standard (x,y) coordinate
plane?
A. -4
_3
B. >
C. 2
3
D. 5
2
E. 3



33. What are the quadrants of the standard (x,y) coordinate
plane below that contain points on the graph of the
equation 4x — 2y = 8 ?

y
A
quadrants 11 I
of the
standard (x,y) > X
coordinate 0
plane 11 IV

I and III only

I, II, and III only
I,II, and IV only
I, III, and IV only
I1, III, and IV only

SR



39. The coordinates of the endpoints of CD, in the
standard (x,y) coordinate plane, are (—4,-2) ﬂi (14,2).
What is the x-coordinate of the midpoint of CD ?

A. O
B. 2
C. 5
D. 9

E. 10



4. What is the y-intercept of the line 4y + 2x = 122
f. 12
g. —2
h. 6
i. -6
j. 3



13. Which point lies on the same line as (2, -3) and (6, 1)?
a. (5,-6)
b. (2, 3)
c. (-1,8)
d. (7,2)
e. (4,0)



11. Find the slope of the line 7x =3y - 9.
a. 3

b. -9
7

C. 3
d. -3

3
e. 7



29. The vertices of a triangle are A(-1, 3), B(3,0), and C(-2, —1). Find the length of side AC.
a. V15
b. V17
c. 19
d. 17

e. 3V6



30. Which of the following equations has a graph that has a y-intercept of 4 and is parallel to 3y — 9x = 24?2
f. -12x+4y=16
g. 9x-3y=-15
h.2y=4x+8
i. 7y=14x+7
jo 3x-9y=14



96. Three of the vertices of a square are (-2, 3), (5, 3), and (-2, —4). What is the length of a side of the
square?
f. 5
g. 4
h.3
i. 7
j. 8



97. Which of the following lines is perpendicular to y = 3x + 1?
a. 6x+5=2
b. 4+ y=3x
C. -9y=-3+2%
d.2x+y=4
e. 3y+x=>5



59. What is the midpoint of XY if X(—4, -2) and Y(3, 8)?
a. (-7,6)
b. (0.5, 3)
c. (-1,6)
d. (-7,-10)
e. (2,-1.5)



74. Triangle XYZ is an equilateral triangle. YW is an altitude of the triangle. If YX is 14 inches, what is the
length of the altitude?
f. 7V/3 inches
g. 7 inches
h. 7V2 inches
i. 63 inches
j- 12 inches



=z 1) PAPER (page 6 of 18)
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17. The scales on both axes of the standard (x, y) coordinate plan below are the same. Of the following, which is the
best estimate for the slope of AB?
A. 4 Ay
3
B. —
4
1
C. —
4

=
o —
>\
v
K




19. In the standard (x, y) coordinate plane shown below, what is the distance in the x direction, in units, from point 4
to point B? A

A (4,2)

5 B(1,-1)

2SO P
W



25.

To check the slope of a ramp, a building inspector places an overlay of the standard (x,y) coordinate plane on the
construction blueprint so that the x-axis aligns with the horizontal on the blueprint. The line segment representing
the side view of the ramp goes through the points (1,-3) and (14,2). What is the slope of the planned ramp?

1
15

1

13



o

Lines p and ¢ intersect at point (1,3) in the standard (x, y) coordinate plane. Lines p and r intersect at (2.5). Which
of the following is an equation for line p?

y=2x+1
y=2x+2
y=2x+3
y=2x+35

Cannot be determined from the given information



36. Which of the following is an equation of the line that
passes through the points (1,3) and (=3,-13) in the
standard (x,y) coordinate plane?

F. x+ y=4
G. 4x- y=1
H. 5x- y=2
J. 6x—-2y=8
K. 7x-2y=5



Y A & 9 W W &

K. "IR<a

45. What is the distance, in coordinate units, between the
points P(-2,-1) and Q(1,3) in the standard (x,y)
coordinate plane?

V5
. V7
3
5
7

moO0® P
~J

ACT-63E-SAMPLE
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47.

Which of the following defines the solution set for the
system of inequalities below?

x<6
4+2x20

il e
!
o0
A
-
A
(@)



49. If two lines in the standard (x,y) coordinate plane are
perpendicular and the slope of one of the lines is 3,
what is the slope of the other line?

A3
B. i1

1
c. -1

1
p. 1
E: '3

ACT-63E-SAMPLE
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50. In the standard (x,v) coordinate plane, (12,3) is
half-way between (2a, a + 3) and (4a, a - 5). What is
the value of a ?

sl
o W NIV E S N



24. In the (x,y) coordinate plane, what is the slope of the
liney=x-57

¥, -5
G, -1
O
H. <
Jd. 1
K. §



31. What are the (x,py) coordinates of the unique point on

the graph of x + 4y = 18 such that the y-coordinate of
that point is twice the x-coordinate? .

A. (1,2)
B. (2.4)
C. (3,6)
D. (4.8)
E. (9,18)

ACT-53C-PRACTICE



21 What is the sloPe of the hne iven by the ¢ o
‘3x + Sy - _15 9 " g y.the e‘quatu._)n‘
A -3
T

B -3

C. —Z

3

E 5



49, In the standard (x,y) coordmate plane what is the |
dlstance between the pomts (3, 4) and (-5 2)?

B. 6
- C 8
D. 10 - -

E 14



26. The slope of the line with equation y = ax + b is greater
than the slope of the line with equation y = cx + b.
Which of the following statements must be true about
the relationship between a and ¢ ?

F. a<c
. a<c

G
H. a=c
J.
K



» <

B(37 €(9<
- A2,1) D(12’1)>x

39. What is the slope of CD ?

A. -3
B. -1
C. 1
5
D. 21
S
E. >



4. What is the y-intercept of the line 4y + 2x = 122
f. 12
g. —2
h. 6
i. -6
j. 3



11. Find the slope of the line 7x = 3y - 9.
a. 3

b. -9
7

3
. =3

a o

3
e.7



26. The slope of the line with equation y = ax + b is greater
than the slope of the line with equation y = cx + b.
Which of the following statements must be true about
the relationship between a and ¢ ?

F. a<c
. a<c

G
H. a=c
J.
K



24. Lines p and n lie in the standard (x,y) coordinate plane.
An equation for line p 1s y = 0.12x + 3,000. The slope
of line n 1s 0.1 greater than the slope of line p. What is
the slope of line n ?

F. 0.012
G. 0.02
H. 0.22
J. 1.2
K. 300



25. To check the slope of a ramp, a building inspector _ , . / ;
places an overlay of the standard (x,y) coordinate plane - "7 uy s M f IOP & \7 ) Ver/
on the construction blueprint so that the x-axis aligns »
with the horizontal on the blueprint. The line segment s
representing the side view of the ramp goes through m _ Pe /N S
the points (1,-3) and (14,2). What is the slope of the -

D planned ramp? S/opé _ A Y | ) s (___ 31> _g_\

A -L d - — o
Y oty o /4 — 7 7 B
c. -1 /ﬁZa [/@Ui € Ve /(/P@q//'é J'M/b A’)(
—D. 3 % oty ANSSeq— éd/% S <0 ?9\12,
E. 13
4 /(/Mﬁ«:ra/]%?’ ~/c/1/ D



g

36. Which of the following is an equation of the line that
passes through the points (1,3) and (-3,-13) in the
standard (x,y) coordinate plane?

F. x+ y=4
G. 4x— y=1
H. S5x— y=2
J. 6x-2y=28
K. 7x-2v=5

jé/é 5 /?T/r/— \f/‘[{é,—-,/
Vwe Forals

B o

—

AxX (=3 - ﬁiyzq

AY ;{:/wa}) e
Usctes anid Séx

éf/g/&/ ﬁ// & Wﬁ% 44’/4/ & —%/ﬂf' 4/ o1 /:'—/WX%‘A

Sprr7
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31. What are the (x,y) coordinates of the unique point on
the graph of x + 4y = 18 such that the y-coordinate of
that point is twice the x-coordinate?

e fry ¢ ChCh 0/\/ i

C 3o L ! !2 TM wiTh Hhe
P 4n Work?:
» Wﬂgg Gt (0) by

s ém/l Df[’ B GO ON TO THE NEXT PAGE.
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n. 1z m = (o h-:_3é

2 §
55. What is the length, in coordinate units, of the diameter b
of a circle whose endpoints have coordinates (12,3) and /S%% ;&E /&/&(,&

(6,-5) in the standard (x,y) coordinate plane?

\f(”—~®L + Z;‘(’YDL — \[:Zé + é‘(-

- oo

D

MU QW >
SFEFE
88(\)000




28. Which of the following is an equation of the line that
passes through the points (1,-2) and (4,7) in the stan-
dard (x,y) coordinate plane?

DO YOUR FIGURING HERE.

F oy= x-2 | &) anSWERS S/&)&é-: _,z- o 2 Z— /’Z)
G. y=3x-5 | tu )%pé/_,&'hg.e‘/cépf’ Xp- Ny Sl
Hy= 7 | Sforv. Bl Shpes _ 9
hoy=3xt3 lare diffeped S0 el 5—
Koy=gx+ j it Sote it Sope Yoce bt Grsiin S hos B




33, What i 1s1 the dls;]tance én céo?rdl)nate udmts begwee;l (6,4) j f’ DO YOUR FIGURING HERE.
and (8,10) in the standard (x,y) coordinate plane gt 4/(/&é BF U 2
A VB ﬂ

Ao va b= \/(é‘Z 4) ”‘[7‘1 =)
e o \/(/0 L/)1+(8 Z)= ,\/34+1/ (/_—

34. One of the following is the slope of the line graphed in /
the standard (x,y) coordinate plane below. Which one 5 pp é’ &% / A/ é_{ /Mj
it?
i ~ Coorclin#7¢- Flarit-

F. -8 Y
bl _s/o =dage -0 g s
0 7 'D\ Fe e -8 - =B --L
J L 7— VA
H g Be7wsreens Chojec s F:;M///zg
! e 4 _'2_; > 4 6 80x 6“}%57—(%%%1 s/ope LR

e %ecauée ae Qo€S ThHru- "aﬁ""’”/ﬂ S,bpe /8 (—)




’43 The point (3,-4) is the midpoint of the line segment in_ M 3 / P . 7 ' /z;
| the standard (x,y) coordinate plane joining the point / o/ A/ ) /’7 U ..

/ (8,~11) and the point (a,b). Which of the following is
N (a,b) ? , ’\(, 4'71_, g'\ + g‘?—.
oAb 29 3Bk s 5

B. . (-2,-19)

S 853)35) . T 9/ / /
E. (5.5.-7.5) Y, ; BB B e e +—g_
A i AN R S




43 The lme graphed below shows the predlcted gasolme S DO YOU
use for a cértain car, Which of the following is:the =~ . - -+ - oo

. ;closest estimate of this car’s predicted rate of gasolme T
"+ use, in mlles per gallon" : oot

A

20... ° .o o o o:o . o e

L 151 .

allons ' ~
R . 10 k . :
28 i 5-.‘_;‘ - ;. “

30 - - f |
35 ** 0 100-200 300 400 500 600,700 800 - -
40 T e

HEQW P



13. Eight points with integer coordinates are plotted in the

standard (x,y) coordinate plane below. Which of the Zﬂﬂ/’%/l/ﬂ fé 6 COM E f [ y

plotted points has an x-coordinate less than 1 and a

y-coordinate of at least 2 ? : , | qud/kﬂ/‘/f I ——> ( +') o )
T e bh o teiin O g R
HEE P ; 1 R (’“)")
_; — % {2>x . | ﬂ Hed (+) ’) &
ST 1oy Zf 422, they 4 can oMY 02
C IL Por. St ixgo(f)‘ﬁ%kﬂ/,éf

®OOwp
o>



IS wp ThHe oMY ONSWER IHaT b4/ BIe/AYE Profeor

20. The manufacturer of an airport baggage conveyor

recommends a slope of no more than 0.25. If the S IOP e = ‘r‘ SE

baggage conveyor in the figure below rises 4 feet, what CEE———
is the minimum acceptable value for x, in feet? r UL /\/
| Ris&
3o
conVe 4 S/OP('ﬂ ﬂZSJw 25’@?’ I
+ g s
| /00 c./
X
F. 41
4
G. s kun [(1S€ | Y

= H. 16 | }ZLU\/ . (_{ X

J. 25

K. 29 | | X = \(0




53; W<hich of the following best reprc;s:e;ltg th;e graph of /‘/crlpe,,/m AL PM{;'LS

Z < ax + b for some positive a and negative b ? I A f Uz / : ﬁé'_s 2N / i /ﬁ/ﬁé—

"" A=Shpe b= Ve Zrderten]

e g

—— s Ehmaair /3 a we D

2 SACé b 1o Neqaf N E ENrrrtt 7
it g

Yol FHGEA, chppsE C Jecauwsy

o EHe e VEaxid
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53. Which of the following shaded regions is the graph in
the standard (x,y) coordinate plane of the points that

satisfy the inequality |y| <10 ?

A. y D. y .
A A
|04 L
i e } —>>X
C/ o [ 10 ~10 | 10
L10+4 eSS
B. By E. y
- A
104 Y .
> X )x
-0 | 10 ~108 |10 ¢
y
A
) E—
.':'*. 2 '-*;;'_,>x
Y }f} o B
ACT-57B g

o

—

Vuled- M€ y rM%

Hhsolitr- (////4%/ i,
Grap //Wf '//f/yw//%é i
[y | £10

Sp/f'f,

/
gé[ﬁ
cgy(&

420
% V-
are [edd

Lot
I,
GO ON TO THE NEXT PAGE.

Uov«f:\/k Ten



79. What is the inequality that corresponds to the graph below?
A

\ ’
a. y>3x+2
b.y<-3x+2
C.y=-3x+2

d. y<3x+2
e. y<-3x+2




40. Tickets for the Senior Talent Show at George Washing-
ton Carver High School are $3 for adults and $2 for
students. To cover expenses, a total of $600 must be
collected from ticket sales for the show. One of the fol-
lowing graphs in the standard (x,y) coordinate plane,
where x is the number of adult tickets sold and y is the
number of student tickets sold, represents all the poss-
ible combinations of ticket sales that cover at least
$600 in expenses. Which graph is it?

F.

S .

[
S

student tickets sold
S

o

0 200 400 600 x
adult tickets sold

[\ I e )
8 8.

student tickets sold
o 3
|
|

0 200 400 600 x
adult tickets sold

N> B A
8 8 «

student tickets sold
S

o

0 200 400 600 x
adult tickets sold

Yy

S & 3
S & S

student tickets sold

0 | | |
0 200 400 600 x
adult tickets sold

© <

2 2

student tickets sold
&
S

0 +——+—
0 200 400 600 x
adult tickets sold




36. Which of the following is the graph of the region
1 < x+y < 2 in the standard (x,y) coordinate plane?

F. Yy . y
2 J
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. P LR
g of o
. o LURRN
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29. As a class experiment, a cart was rolled at a constant
rate along a straight line. Shawn recorded in the chart
below the cart’s distance (x), in feet, from a reference
point at the start of the experiment and for each of
5 times (#), in seconds.

0

1

2

3

4

5

10

14

18

22

26

30

Which of the following equations represents this data?

A. x= t+10
B. x= 4t+ 6
C. x= 4+ 10
D. x=10t+ 4
E. x=14¢



28. As part of a lesson on motion, students observed a cart
rolling at a constant rate along a straight line. As
shown 1n the chart below, they recorded the distance,
y feet, of the cart from a reference point at 1-second
intervals from 7 = 0 seconds to # = 5 seconds.

t | 0| 1| 2| 3| 4|5
y | 14|19 | 24 | 29 | 34 | 39

Which of the following equations represents this data?

F. y= t+14
G. y= 5t+ 9
H. y= 5t+14
J. y=14t+ 35
K. y=19¢



11. Students studying motion observed a cart rolling at a
constant rate along a straight line. The table below
gives the distance, d feet, the cart was from a reference
point at 1-second intervals from = 0 seconds to
t =35 seconds.

t 0 1 2 3 4 S
d | 14 | 20 | 26 | 32 | 38 | 44

Which of the following equations represents this
relationship between d and ¢ ?

A. d= t+ 14
B. d= 6r+ 8
C. d= 6r+ 14
D. d=14t+ 6
E. d=34t



43. The point (2,5) is shown in the standard (x,y) coordi-
nate plane below. Which of the following is another

point on the line through the point (2,5) with a slope of

_2 9
A
A
(2,5)
L J
Aol ep
Ce
>» X
A. A(-1,3) 14
B. B( 0,8)
C. C( 42)
D. D( 53)
E. E( 5,7



52. As shown in the (x,y,z) coordinate space below, the
cube with vertices A through H has edges that are
| coordinate unit long. The coordinates of F are
(0,0,0), and H 1s on the positive y-axis. What are the
coordinates of D ?

Z
A
C
B<>D
I 3 é\
F i \\\ >y
/1\ | 2
E
5 s
F. (0,1,1)
G. (0,2,0)
H. (0,\2,1)
J. (0,v2,\V3)
K CE1T)



